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Q.3. Distance E is equal to: Y (6 10) B
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If A=(-3.6, 4.6) and B=(-4.3, 1.5) then distance AB s closest to:

]

a) 3.1 b) 3.2 c) 8.2 d) 8.5 e) 10.1
The perimeter of AABC is equal to: y
(9,14)
a) 12.21 b) 21.12 B
c) 29.21 d /149
e) 32
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The perimeter of the square ABCD is equal to: P
C (6,12)
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The distance between point A and point B is 10 units. Point A has coordinates (0, 0); Point B has
coordinates (P, 8). The value of P could be:

a) 0 b) 2 ¢ 10 d °8 e) 6

Line AB has a length of 5 units. Point A has coordinates (3, 2). The x coordinate of Point B could be:

a) 6 b) 7 ¢ 0 d 1 e) All of these.
Point C has coordinates (-5,-1). Point D has coordinates (p, p-1). Distance CD is:

a) P +(p+5) o) \[p*+(p-5) J 2p’

d J@-p)y+(p-5) o) \@-py+(5-py
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